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Question Number : 1 Question Id : 1908895899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s Jeevamrutha?

A new anti-malarial drug

Magazine for farmers

A muxture used in Zero Budget Natural Farmung
New government scheme for livestock

[ =t
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Options:

19088923501. 1
19088923502. 2
19088923503. 3

19088923504. 4

Question Number : 2 Question Id : 1908895900 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Arrange the following states in increasing order of the number of orchid species recorded.
A. Arunachal Pradesh

B. West Bengal

C. Sikkim

D. Kerala

Choose the correct answer from the options given below

1. B.D.A,C

ol

Options:

19088923505. 1
19088923506. 2
19088923507. 3

19088923508. 4

Question Number : 3 Question Id : 1908895901 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Who 1s the ex-officio chairman of the National Board of Wildlife (NBWL)

Union Minister of Mimstry of Environment Forest and Climate change
Chuef secretary

Prime Mimister

Secretary to Minsstry of Environment

Ll

Options:

190889235009. 1
19088923510. 2
19088923511. 3

19088923512. 4

Question Number : 4 Question Id : 1908895902 Question Type : MCQ Option Shuffling : No Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which 1s the 1% Indian state to declare Novel Coronavirus as “ state disaster” (Feb 2020)

Kerala
Tamul Nadu
Mabharashtra

Haryana

[ =

L

Options:

19088923513. 1
19088923514. 2
19088923515. 3

19088923516. 4

Question Number : 5 Question Id : 1908895903 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How much fund has been announced for startups (FFS) under “Start Ups India™?

[a—

10,000 Cr
10.00.000 Cr
1000 Cr
1.00.000 Cr

I
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Options:

19088923517. 1
19088923518. 2
19088923519. 3

19088923520. 4

Question Number : 6 Question Id : 1908895904 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following is also known as true stomach of cows?

Omasum
Abomasum
Rumen
Reticulum

L B

Options:

19088923521. 1
19088923522. 2
19088923523. 3
19088923524. 4

Question Number : 7 Question Id : 1908895905 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The approach 1s an mnovative, Participatory and mnteractive learning
approach that emphasizes problem solving and discovery based learning.

Farm Field School
Market led extension
ATMA

ATIC

[ =t

T

Options:

19088923525. 1
19088923526. 2
19088923527. 3
19088923528. 4

Question Number : 8 Question Id : 1908895906 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1s not a leadership style.

Democratic
Autocratic

Laissez-Fair
Responsive

e
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Options:

19088923529. 1
19088923530. 2
19088923531. 3

19088923532. 4

Question Number : 9 Question Id : 1908895907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

15 the willingness and ability of an individual to seek out investment
opportunities, establish and run an enterprise successfully.

Entrepreurship
Entrepreneur
Enterprise
Jownt venture

B T R e I

Options:

19088923533. 1
19088923534. 2
19088923535. 3

19088923536. 4

Question Number : 10 Question Id : 1908895908 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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can be defined as the process of admunistering and controlling the affairs of the
organization, irrespective of its nature, type, structure and size.

Monitoring
Management
Evaluation
Adminstrative

..h.'.u!qt—l

Options:

19088923537. 1
19088923538. 2
19088923539. 3

19088923540. 4

Question Number : 11 Question Id : 1908895909 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Inflorescence of Sugarcane 1s known as

Arrow
Anther
Silk
Flower

B W o e

Options:

19088923541. 1
19088923542. 2
19088923543. 3
19088923544. 4

Question Number : 12 Question Id : 1908895910 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The most critical stage of irrigation 1n wheat 1s

Panicle inifiation
CRI

Dough stage
Flowering stage

N ST N I

Options:

19088923545. 1
19088923546. 2
19088923547. 3

19088923548. 4

Question Number : 13 Question Id : 1908895911 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

National seed corporation was established in

1966
1992
1982
1963

e

:bw

Options:

19088923549. 1
19088923550. 2
19088923551. 3
19088923552. 4

Question Number : 14 Question Id : 1908895912 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The mventor of drip wrrigation 1s

Simcha Blass
Ramdas

Van Liebing
Thronthwait

B B B
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Options:

19088923553. 1
19088923554. 2
19088923555. 3

19088923556. 4

Question Number : 15 Question Id : 1908895913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Harvest index 1s the ratio of

Economuc yield/Biological yield
Economic yield/Straw yield
Straw yield/ biological yield
Biological yield/Straw yield

N I T O Ry =

Options:

19088923557. 1
19088923558. 2
19088923559. 3

19088923560. 4

Question Number : 16 Question Id : 1908895914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Instrument use to measure atmospheric pressure 1s

Thermograph
Barometer
Anemometer
Psycrometer

e lud B =

Options:

19088923561. 1
19088923562. 2
19088923563. 3
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19088923564. 4

Question Number : 17 Question Id : 1908895915 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Element contributing to the disease and draught resistance 1s

g [ et
QYR 2

g

Options:

19088923565. 1
19088923566. 2
19088923567. 3
19088923568. 4

Question Number : 18 Question Id : 1908895916 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Lines joining equal rainfall are called

1. 1sotherms
2. 1soraimns
3. 1sobars
4. 1sohyets
Options:
19088923569. 1
19088923570. 2
19088923571. 3

19088923572. 4

Question Number : 19 Question Id : 1908895917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Carbon content 1n organic matter 1s

. 12%
2. 58%
3. 24%
4. 84%
Options:

19088923573. 1
19088923574. 2
19088923575. 3

19088923576. 4

Question Number : 20 Question Id : 1908895918 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On an average well-rotted FYM contamns ------- K>O (percent)

1. 0.75
2. 100
3. 050
4. 0.20
Options:
19088923577. 1
19088923578. 2
19088923579. 3

19088923580. 4

Question Number : 21 Question Id : 1908895919 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Brown leaf spot on paddy 1s caused by the deficiency of

Zn
Fe
Cu
Mo

B O

Options:

19088923581. 1
19088923582. 2
19088923583. 3

19088923584. 4

Question Number : 22 Question Id : 1908895920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

During nitrification process NO; 1s converted by NO;3 by

Nitrobactor
Nitrogenes
Thiobacillus
4. Nitrosomonas

o bd =

Options:

19088923585. 1
19088923586. 2
19088923587. 3

19088923588. 4

Question Number : 23 Question Id : 1908895921 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Requirement of nitrogen by plant 1s maximum at stages.

Initial
Harvest
Grand growth
Flowering

s Wl D e
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Options:

19088923589. 1
19088923590. 2
19088923591. 3

19088923592. 4

Question Number : 24 Question Id : 1908895922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which scientific method 1s a bottom-Up or generative approach to research?

Deductive method
Inductive Method
Rational Method
Operational Method

[ =t
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Options:

19088923593. 1
19088923594. 2
19088923595. 3

19088923596. 4

Question Number : 25 Question Id : 1908895923 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of following 1s non-probability sampling?

Simple random
Snowball
Systestamatic sampling
Cluster Sampling

s L) B e

Options:

19088923597. 1
19088923598. 2
19088923599. 3
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19088923600. 4

Question Number : 26 Question Id : 1908895924 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A number calculated with complete population data and quantifies a characteristics of the
population 1s called which of the following?

A parameter
An estimate
A parametric
A vanable

B e I

Options:

19088923601. 1
19088923602. 2
19088923603. 3
19088923604. 4

Question Number : 27 Question Id : 1908895925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ETL level of Thrips 1s

8/leaf
12/leaf
5/1eaf
10/leaf

o W I e

Options:

19088923605. 1
19088923606. 2
19088923607. 3
19088923608. 4

Question Number : 28 Question Id : 1908895926 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 4 Wrong Marks : 1

Which of the following muscles are directly related to wings?

Dorsal muscle
Axillary muscle
Basalar muscle
Sub-alar muscle

I~ b=

=

Options:

190889236009. 1
19088923610. 2
19088923611. 3

19088923612. 4

Question Number : 29 Question Id : 1908895927 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s systemic insecticide?

1. Methamidophos
2. Imudachloprid
3. Cypermethrin
4. None

Options:

19088923613. 1
19088923614. 2
19088923615. 3

19088923616. 4

Question Number : 30 Question Id : 1908895928 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Insects which are active in the day time are called

Nocturnal
Diurnal
Crepuscular
Biannual

ol ol O

Options:

19088923617. 1
19088923618. 2
19088923619. 3

19088923620. 4

Question Number : 31 Question Id : 1908895929 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Horizontal component of pull parallel to the line of motion 1s called

Draft

Resistance
Line of force
Center of Power

N S N T

Options:

19088923621. 1
19088923622. 2
19088923623. 3
19088923624. 4

Question Number : 32 Question Id : 1908895930 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Under similar conditions and turning of same volume of soil ,in which plough, the draft 1s
maximum for

Disc plough
Disc harrow
Mould board plough

Cultivator

N
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Options:

19088923625. 1
19088923626. 2
19088923627. 3

19088923628. 4

Question Number : 33 Question Id : 1908895931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diffusion radiation

Has no umque direction

Has short wave length
Compared to beam radiation
Has larger magnitude

I

_.I.‘-'..H

Options:

19088923629. 1
19088923630. 2
19088923631. 3

19088923632. 4

Question Number : 34 Question Id : 1908895932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

————————————————————————— 1s not a post-harvest operation for rice

Polishing
Milling
Parboiling
Puddling

o LI B

Options:

19088923633. 1
19088923634. 2
19088923635. 3
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19088923636. 4

Question Number : 35 Question Id : 1908895933 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The SPF 1s usually around of the MPF for the basin.

70%
80%
50%
60%

B S T e

Options:

19088923637. 1
19088923638. 2
19088923639. 3

19088923640. 4

Question Number : 36 Question Id : 1908895934 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Vertical suction of plough influences

Pulverization

Depth of cat
Width of cat

Direction of pull

I W B e

Options:

19088923641. 1
19088923642. 2
19088923643. 3
19088923644. 4

Question Number : 37 Question Id : 1908895935 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The choke 1n carburetor 1s provided to

Cut off fuel supply
Cut off air fuel mixture
Control fuel mixture
Control air supply

[ bt

= W

Options:

19088923645. 1
19088923646. 2
19088923647. 3

19088923648. 4

Question Number : 38 Question Id : 1908895936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

BHP of an engine indicates

Power m cylinder
Power on fly wheel
Fric honal power
Power at RTO pully

W) [

o

Options:

19088923649. 1
19088923650. 2
19088923651. 3
19088923652. 4

Question Number : 39 Question Id : 1908895937 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Galactopiosis 1s

B S

Milk secretion
Maintenance of lactation
Milk down

Ceasing of lactation

Options:

19088923653. 1

19088923654. 2

19088923655. 3

19088923656. 4

Question Number : 40 Question Id : 1908895938 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two humped camel 1s known as

1.
2

W

-

Cantelus bacterianw
Canielus lamr

C. dromedurius
None

Options:

19088923657. 1

19088923658. 2

19088923659. 3

19088923660. 4

Question Number : 41 Question Id : 1908895939 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Estrogen, Progestron and relaxim hormones are secreted from

N TV N

Ovary

Adrenal
Pituitary
Thyroid

el
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Options:

19088923661. 1
19088923662. 2
19088923663. 3

19088923664. 4

Question Number : 42 Question Id : 1908895940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Dipping 1s commonly practiced in

Sheep
Goat
Pig
Cattle

IJ‘J I.‘_J. [a—y

.

Options:

19088923665. 1
19088923666. 2
19088923667. 3

19088923668. 4

Question Number : 43 Question Id : 1908895941 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Spleenic fever 1s another name for

Anthrax
FMD

Mastitis
Cowpox

B W I e

Options:

19088923669. 1
19088923670. 2
19088923671. 3
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19088923672. 4

Question Number : 44 Question Id : 1908895942 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Scientific name of water buffalo

Babalus babalis
Bos indicus
Bos Taurus
Capra Hircus

[ =

W

Options:

19088923673. 1
19088923674. 2
19088923675. 3

19088923676. 4

Question Number : 45 Question Id : 1908895943 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Mating of the related individual with 4-6 generation 1s known as
Inbreeding

Line breeding

Close breeding

Out breeding

da b N

Options:

19088923677. 1
19088923678. 2
19088923679. 3
19088923680. 4

Question Number : 46 Question Id : 1908895944 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

The best age of dehorning 1s
16 week

4 week

8 week

1 week

il e

Options:

19088923681. 1
19088923682. 2
19088923683. 3
19088923684. 4

Question Number : 47 Question Id : 1908895945 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gender 1s a/an

Biological entity
Social construct

Innate quantity
Physiological construct

B W o =

Options:

19088923685. 1
19088923686. 2
19088923687. 3

19088923688. 4

Question Number : 48 Question Id : 1908895946 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A substance needed by body for growth, energy, repair and maintenance 1s called

Carbohydrates
Nutrients
Calories

Fatty acid

I =

=

Options:

19088923689. 1
19088923690. 2
19088923691. 3

19088923692. 4

Question Number : 49 Question Id : 1908895947 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amylases 1n saliva begin the breakdown of carbohydrates into

Fatty acid
Polypeptides
Anmuno acids
Simple Sugars

i PO

Options:

19088923693. 1
19088923694. 2
19088923695. 3
19088923696. 4

Question Number : 50 Question Id : 1908895948 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Anil and Bijal together can do a job 1n 4 days. If Aml can do job 1n 12 days , if he work
alone, then how many days Byjal alone take to complete the job?

1. 6 days
2. 9 days
3. 10 days
4. 12 days
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Options:

19088923697. 1
19088923698. 2
19088923699. 3

19088923700. 4

Question Number : 51 Question Id : 1908895949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If A % 1s the discount on the marked price Y . the discount 1s

(A/Y)x 100
100/A+Y
(A/100)xY
(Y/A) X 100

[ =

il

Options:

19088923701. 1
19088923702. 2
19088923703. 3

19088923704. 4

Question Number : 52 Question Id : 1908895950 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Neelam bought a box for Rs. 3500 and sold to Neeta. Neeta in turns sold it to Jeena. Both
Neelam and Neeta made 20% profit. Which one of the flowing 15 true?

Neelam and Neeta earn the same profit
Neelam earned more profit than Neeta
Neelam earned less profit than Neeta
Cannot be determined

|

etk s

Options:
19088923705. 1
19088923706. 2
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19088923707. 3

19088923708. 4

Question Number : 53 Question Id : 1908895951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Vedant travels 60 Km per hour going to a neighboring city and 50 km per hour coming back
using same road. He drive a total of 5 hours away and back. What 1s the distance from
Vedant’s house to the city.

1. 139
2. 133
3. 142
4. 136
Options:

19088923709. 1
19088923710. 2
19088923711.3
19088923712. 4

Question Number : 54 Question Id : 1908895952 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number x, y, z and w have an average equal to 25. The average of x, y, and z 1s equal to
27. Find value of “w™?

30
19
15

25

B I R

Options:

19088923713. 1
19088923714. 2
19088923715. 3

19088923716. 4
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Question Number : 55 Question Id : 1908895953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Find the odd option from series 28, 29, 60, 123, 736, 3685

29
736
3685
123

o I

.

Options:

19088923717. 1
19088923718. 2
19088923719. 3

19088923720. 4

Question Number : 56 Question Id : 1908895954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a prime number

23
43
21
29

I bt

il

Options:

19088923721. 1
19088923722. 2
19088923723. 3

19088923724. 4

Question Number : 57 Question Id : 1908895955 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The least number of five digit which is exactly divisibleby 12.15.and 18 is

10080
10015
10010
10020

il | =
" L] L]

-

Options:

19088923725. 1
19088923726. 2
19088923727. 3

19088923728. 4

Question Number : 58 Question Id : 1908895956 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When 52416 1s divided by 312, the quotient 15 168. What will be the quotient when 52 416 15
divided by 0.0168

312

3120
3.12
31.2

B S

Options:

19088923729. 1
19088923730. 2
19088923731. 3
19088923732. 4

Question Number : 59 Question Id : 1908895957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

How many pieces of 25 cm length can be cut from a rod 42.5 meter long?

170
180
165
150

o W PO -
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Options:

19088923733. 1
19088923734. 2
19088923735. 3

19088923736. 4

Question Number : 60 Question Id : 1908895958 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total monthly salary of 4 men and 2 women 1s 51000. If women earn 1500 more than
man, what 1s the monthly salary of women?

6500
7500
8500
9500

ad  [ed =t

e

Options:

19088923737. 1
19088923738. 2
19088923739. 3
19088923740. 4

Question Number : 61 Question Id : 1908895959 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The average of 12 numbers 1s 15 and the average of first two 1s 14. What 1s the average of the
rest?

14

76/5
66/5
55/5

s lad [ =

Options:
19088923741. 1
19088923742. 2
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19088923743. 3

19088923744. 4

Question Number : 62 Question Id : 1908895960 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If x 1s inversely proportional to y and y 1s proportional to z then xz

Is proportional to y

Is inversely proportional to y
Is a constant

Is proportional to yl

s by =

-

Options:

19088923745. 1
19088923746. 2
19088923747. 3

19088923748. 4

Question Number : 63 Question Id : 1908895961 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Rutu, Rushin and Nistha investedRs. 8000, Rs. 4000 and Rs.8000 respectivelyin a business.
Rutu left after six months. If after eighth month there was gain of Rs 4005, then what will be
the share of Rushin?

890
550
980
850

o S R s B

Options:

19088923749. 1
19088923750. 2
19088923751. 3

19088923752. 4
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Question Number : 64 Question Id : 1908895962 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Rs. 1000 1s invested at 5 % per annum sumple interest. If the interest 1s added to the principal
after every 10 years, the amount will become Rs 2000 after

15 years
18 years
20 years
22/3 years

B I e

Options:

19088923753. 1
19088923754. 2
19088923755. 3
19088923756. 4

Question Number : 65 Question Id : 1908895963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

By how much percent 1s four-fifth of 70 lesser than five sevenths of 112

24
30
38
25

B W P e

Options:

19088923757. 1
19088923758. 2
19088923759. 3

19088923760. 4

Question Number : 66 Question Id : 1908895964 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Select the related numbers from the given alternative
3.9 .18.16,33 23 (...)

48
51
54
58

o o

_.I.‘n."...ul

Options:

19088923761. 1
19088923762. 2
19088923763. 3
19088923764. 4

Question Number : 67 Question Id : 1908895965 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Find out nussing letters in the given series
KPA LQB. MRC,NSD, (.....)

TOE
OET
ETO
OTE

O TS T (N =

Options:

19088923765. 1
19088923766. 2
19088923767. 3

19088923768. 4

Question Number : 68 Question Id : 1908895966 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Select the related numbers from the given alternative
200 A o

132
136
144
148

i S I

Options:

19088923769. 1
19088923770. 2
19088923771. 3
19088923772. 4

Question Number : 69 Question Id : 1908895967 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A 12 % stock is yielding 10 %. The market value of stock is

83.33
110
120
112

e U D e

Options:

19088923773. 1
19088923774. 2
19088923775. 3
19088923776. 4

Sub-Section Number : 2
Sub-Section Id : 190889166
Question Shuffling Allowed : Yes

Question Id : 1908895968 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (70 to 74)

»
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Question Label : Comprehension

Read the table carefully and answer the questions given below

Table shows male and female population (in thousand) in five countries in five different years

A B [c D E

Male | Female | Male | Female | Male | Female | Male Female | Male | Female
2015 |34 |15 |61 |45 |42 |41 53 |48 |62 |42
2016 |42 |32 54 (32 |62 |33 85 |79 76 |55
2017 |78 |45 |88 |55 |68 |28 |92 |42 |87 |68
2018 |46 |39 |73 |69 |26 |22 |126 |104 |99 |88
2019 |58 [22 [82 [72 59 |63 145 [142 [108 [92

Sub questions

Question Number : 70 Question Id : 1908895969 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What was the ratio of females in the country B in year 2015 and 2017 together to the number

of females in country E 1n same year together?

o W D e

10:17
19:10
10:11
17:10

Options:

19088923777. 1

19088923778. 2

19088923779. 3

19088923780. 4

Question Number : 71 Question Id : 1908895970 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What was the total numbers of males and females 1n year 2016 1n all countries together?

da LI D =

53200
51200
54800
55000

-
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Options:

19088923781. 1
19088923782. 2
19088923783. 3

19088923784. 4

Question Number : 72 Question Id : 1908895971 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In which year was the difference between the numbers of male and female 1s second lowest 1n
country E.

2019
2015
2017
2018

o N o

Options:

19088923785. 1
19088923786. 2
19088923787. 3
19088923788. 4

Question Number : 73 Question Id : 1908895972 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

No of female population in the country A 1n year 2018 was that percentage of difference of
population of male and female m year 2019 1n country D?

2700
1300
2300
2100

s ) D

Options:
19088923789. 1
19088923790. 2
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19088923791. 3

19088923792. 4

Question Number : 74 Question Id : 1908895973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What was the total number of females in country C and E together?

61300
62200
52300
56700

o W D -

Options:

19088923793. 1
19088923794. 2
19088923795. 3
19088923796. 4

Sub-Section Number : 3
Sub-Section Id : 190889167
Question Shuffling Allowed : Yes

Question Id : 1908895974 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (75 to 79)

Question Label : Comprehension

»
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Study the bar-graph carefully and answers the following questions.

Income 1n thousand

9 -

80 -

70 -

60 -

0 1 ' # Income of Jay
40 - ¥ Income of Veer
20 4

10 -

0 - | |

2016 2017 2018 2019 2020

Sub questions

Question Number : 75 Question Id : 1908895975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If Ja1 and Veer spend 40 percent and 55 percent in year 2017 then what 1s the total saving of
Ja1 and Veer together in 2017

1. 43000

2. 45500

3. 47000

4. 49500
Options:
19088923797. 1
19088923798. 2
19088923799. 3

19088923800. 4

collegedunia
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Question Number : 76 Question Id : 1908895976 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Jar’s total salary in year 2016, 2019 and 2020 15 what percent more or less than Veer’s salary

in same years?
1. 125%
2. 10%
3. 15%
4 175%

Options:

19088923801. 1
19088923802. 2
19088923803. 3
19088923804. 4

Question Number : 77 Question Id : 1908895977 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What 1s the difference between the average mcomes of Jai to the average imncome of Veer
throughout five years?

2500
3000
1000
2000

L T

Options:

19088923805. 1
19088923806. 2
19088923807. 3
19088923808. 4

Question Number : 78 Question Id : 1908895978 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Ja1 spends 1ts income 1n the ratio of 5 : 3 : 2 1n 2018 on mvestment, food and furniture
respectively. Veer spend 1ts income 1n the ratio of 1:2:4 in 2018 on food, furniture and
investment respectively. Find the money spend on furniture by Ja1 and Veer together.

29000
32000
35500
28500

B W B e

Options:

19088923809. 1
19088923810. 2
19088923811. 3

19088923812. 4

Question Number : 79 Question Id : 1908895979 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Veer saves 25 % 1 2017, 35 % 1n 2018 and 45% 1n 2019. Then what 1s the total amount

spend 1n 2017.2018 and 2019 by Veer ?

1. 115000
2. 135000
100000
105000

s ol

Options:

19088923813. 1
19088923814. 2
19088923815. 3
19088923816. 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

4
190889168

Yes

Question Id : 1908895980 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

-
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Question Numbers : (80 to 84)

Question Label : Comprehension

Read the paragraph properly and answer the questions

The development of nationalism 1n the third world countries, as 1s well known, followed a
very different trajectory from that in the advanced capitalist countries. In the latter 1t was a
part of the process of the emergence of the bourgeois order 1n opposition of feudalism, while
in the former 1t was a part of the anti-colomal struggle. The impact of colonialism, though it
differed across countries, had on the whole been in the direction of transcending localism and
unifying supra local economic structures through the introduction of market relations. The
struggle against colonialism, consequently, took the form of a national struggle 1n each
mstance m which people belonging to different tribes or linguistic communities participated.
And the colonial power i each nstance attempted to break this emerging national umty by
sphitting people. The modus operandi of this splitting was not just through political
manipulation as happened for instance 1n Angola, South Africa and a host of other countries;
an important part of this modus operand: was through the nurturing of a historiography that
just denied the existence of any overarching national consciousness. The national struggle,
the national movement were given a tribal or religious character, they were portrayed as
being no more than the movement of the dominant tribe or the dominant religious group for
the achievement of narrow sectional ends. But the coming into being of a national
consciousness at a supra tribal, supra local and supra religious level, on the other hand 1t
sought deliberately to subvert this very consciousness by using the same forces which 1t has
objectively undermined.

Sub questions

Question Number : 80 Question Id : 1908895981 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

How did colonial power react to topple the anti-colomal structure?

1. By splitting people on the basis of their financial positions
2. By using tempting economic strategies

3. By creating linguistic, tribe and religious divides
4. By mstigating tribal against anti-communal force
Options:

19088923817. 1
19088923818. 2
19088923819. 3
19088923820. 4

Question Number : 81 Question Id : 1908895982 Question Type : MCQ Option Shuffling : No Is

[ ]
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following was the advantage of struggle against colonialism?

Awareness beyond linguistic and religious identity was generated.
Backwardness of tribe was eradicated

Communities got divided on the basis of religion and language
Tribal groups held their separate identity throughout the struggle

s W N e

Options:

19088923821. 1
19088923822. 2
19088923823. 3
19088923824. 4

Question Number : 82 Question Id : 1908895983 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

How did nationalisms originated in the third world countries

As a struggle against feudalism

As vehement opposition to colomalism
To advocate capitalist movement

To strengthen localism

o

_.l.hLH

Options:

19088923825. 1
19088923826. 2
19088923827. 3
19088923828. 4

Question Number : 83 Question Id : 1908895984 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ ]
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Which of the following words 1s most nearly same i meaning as the
words TRAJECTORY as used in the passage?

1. Result

2. Tradition

3. Path

4. Consequence
Options:
19088923829. 1
19088923830. 2
19088923831. 3

19088923832. 4

Question Number : 84 Question Id : 1908895985 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following words 1s most nearly opposite in meaning as the words
NURTURING as used 1n the passage?

demolishing
weakening
fostering
poisoning

S S T N T

Options:

19088923833. 1
19088923834. 2
19088923835. 3

19088923836. 4

Sub-Section Number : 5
Sub-Section Id : 190889169
Question Shuffling Allowed : Yes

Question Number : 85 Question Id : 1908895986 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Make negative of the following sentence
This shop sells imported cloth items
This shop don’t sell imported cloth items.

This shop 1s not sell imported items.
This shop 1s being not sell imported items.

O A A

Options:

19088923837. 1
19088923838. 2
19088923839. 3
19088923840. 4

This shop doesn’t sell imported cloth items.

Question Number : 86 Question Id : 1908895987 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Make negative of the following sentence
We accept all types of cards

We doesn’t accept all types of cards.
We have not accept all types of cards.
We don’t accept all types of cards.
We did not accept all types of cards.

= ) =

Options:

19088923841. 1
19088923842. 2
19088923843. 3

19088923844. 4

Question Number : 87 Question Id : 1908895988 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Choose the correct antonym of the given word

Fluster

Arrange
Disconcert
Disobey
Upset

W o e

Options:

19088923845. 1
19088923846. 2
19088923847. 3

19088923848. 4

Question Number : 88 Question Id : 1908895989 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct antonym of the given word
Esoteric

External
Native

Pleasant
Famihar

e W B

Options:

19088923849. 1
19088923850. 2
19088923851. 3
19088923852. 4

Question Number : 89 Question Id : 1908895990 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Choose the correctly spelt word

Chauffeur
Chaufer
Chauffer
Chaufeur

-I-‘-W!J_h-t

Options:

19088923853. 1
19088923854. 2
19088923855. 3
19088923856. 4

Question Number : 90 Question Id : 1908895991 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Arrange alphabetically
A. Preach

B. Praise

C. Precinct

D. Precede

Choose the correct answer from the options given below

W ww

rPrOw
onpU

W
e 00

Options:

19088923857. 1
19088923858. 2
19088923859. 3

19088923860. 4

Question Number : 91 Question Id : 1908895992 Question Type : MCQ Option Shuffling : No Is

[ ]
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Correct Marks : 4 Wrong Marks : 1
Arrange alphabetically

A. Select
B. Seldom
C. Send
D. Selfish
E. seller

Choose the correct answer from the options given below

1. B,A,D,E,C
2. BBE.D.AC
3. AAB D EC
4. BAEDE
Options:

19088923861. 1
19088923862. 2
19088923863. 3

19088923864. 4

Question Number : 92 Question Id : 1908895993 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If Binaca hadn’t argued, Raghubhar ......... . the case.

lost

had lost

would lose
would have lost

e U B =

Options:

19088923865. 1
19088923866. 2
19088923867. 3

19088923868. 4
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Question Number : 93 Question Id : 1908895994 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the phrases of option 1,2,3 and 4 given below each sentence should replace the
phrase printed 1n bold in the sentence to make 1t grammatically correct?

This 15 a crying shame, which human rights organization on either side of the border should
took up in their respective judiciary.

1. take on in their

2. take up i therr

3. taken up in therr

4. no correction required

Options:

19088923869. 1
19088923870. 2
19088923871. 3
19088923872. 4

Question Number : 94 Question Id : 1908895995 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the phrases of option 1,2 3 and 4 given below each sentence should replace the
phrase printed 1n bold 1n the sentence to make 1t grammatically correct?

Every age and every country had seen and admired exceptional people, recognizing them as
sants 1n the sense of being distinct from the average human being.

1. has seen and admired
2. have seen and admired
3. seen and admired

4. no correction required

Options:

19088923873. 1
19088923874. 2
19088923875. 3
19088923876. 4
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Question Number : 95 Question Id : 1908895996 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The government has decided to pay compensation to the tune of INR I Lakh to the fanuly
members of those who are killed in ratlway accidents.

Statement I: The government has enough funds to meet the expenses due to compensation.

Statement II: There may be reductions in the mcidents of railway accidents in the near
future.

In light of the above statements, choose the correct answer from the options given below

Only I 1s implicit.

Only IT 1s implicit.

Either I or IT 1s implicit.
Neither I nor I 1s implicit.

o W B =

Options:

19088923877. 1
19088923878. 2
19088923879. 3

19088923880. 4

Question Number : 96 Question Id : 1908895997 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If you are an Engineer, we have a challenging job for you.
Statement I: We need an engineer.
Statement II: You are an engineer.
In light of the above statements, choose the correcr answer from the options given below
Only I 1s impheit.
Only II 1s imphecit.

Either I or II 15 implicit.
Neither I nor IT 1s implicit.

I et

ool

Options:
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19088923881. 1
19088923882. 2
19088923883. 3

19088923884. 4

Question Number : 97 Question Id : 1908895998 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘Buy pure and natural honey of Company X’- an advertisement 1n a newspaper.
Statement I: Artificial honey can be prepared.

Statement II: People don’t mind paying more for natural and pure honey.

Statement III: No other company supplies pure honey.

In light of the above statements, choose the correct answer from the options given below
Only I 1s implicit.

Only I and IT are implicit.

Only I and IITI are implicit.
All are implicit.

R S

Options:

19088923885. 1
19088923886. 2
19088923887. 3

19088923888. 4

Question Number : 98 Question Id : 1908895999 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements

Statement I Some men are great.

Statement II: Some men are wise.

Conclusion I: Men are either great or wise.

Conclusion II: Some men are neither great nor wise.

In light of the above statements, choose the correct answer from the options given below
Only conclusion I 1s valid.

Only conclusion IT 1s valid.

Both the conclusions are valid.
Neither of the conclusions are valid.

e L a

Options:

19088923889. 1
19088923890. 2
19088923891. 3

19088923892. 4

Question Number : 99 Question Id : 1908896000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the following statement choose the correct answer which logically follows from the
given statement:

Statement: To pass the examination, one must work hard.

Exanunation 1s related with hard work.

All those who work hard, pass.

Examination causes some anxiety and those who work hard, overcome it.
Without hard work, one doesn’t pass.

[

e bea

Options:

19088923893. 1
19088923894. 2
19088923895. 3

19088923896. 4
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Question Number : 100 Question Id : 1908896001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Data processing’ 1s related to ‘raw data’ m the same way as “University’ 1s related to:

Teacher

Building
Students
Principal

I S I

Options:

19088923897. 1
19088923898. 2
19088923899. 3

19088923900. 4

Question Number : 101 Question Id : 1908896002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the followimg question, choose the pair of words that shows the same relationship as given
on the top:

Medicme: Pills

Spices: Food
Knowledge: Books
Watch: Time
Radio: Sound

B I R o R

Options:

19088923901. 1
19088923902. 2
19088923903. 3

19088923904. 4

Question Number : 102 Question Id : 1908896003 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
P collegedunia:
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Six persons P, Q, R, S, T and U are facing one another front to front. P 1s sitting i front of Q.
Q 1s sitting to the right of T and left of R. P 1s to the left of U and right of S.

Who 1s sitting opposite to R?

it ol
= »no o

Options:

19088923905. 1
19088923906. 2
19088923907. 3
19088923908. 4

Question Number : 103 Question Id : 1908896004 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Six persons P, Q. R, S, T and U are facing one another front to front. P 1s sitting in front of Q.
Q 1s siftting to the rnight of T and left of R. P 1s to the left of U and right of S.

Who 1s sitting opposite to S?

e e

1

2.
3.
4. Cannot be determuned

)

Options:

19088923909. 1
19088923910. 2
19088923911. 3

19088923912. 4

Question Number : 104 Question Id : 1908896005 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Six persons P, Q, R, S, T and U are facing one another front to front. P 1s sitting in front of Q.
Q 15 sitting to the right of T and left of R. P 1s to the left of U and right of S.

Who 1s sifting between P & R?

B R -
[

Options:

19088923913. 1
19088923914. 2
19088923915. 3
19088923916. 4

Question Number : 105 Question Id : 1908896006 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following falls under National wealth?

Bill of exchange
Rivers

Skall

Buildings

N S T e Ty

Options:

19088923917. 1
19088923918. 2
19088923919. 3

19088923920. 4

Question Number : 106 Question Id : 1908896007 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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are the wants, which are essential and without them we cannot imagine

life

Comforts
Luxuries

Necessities
Geffen goods

o W D e

Options:

19088923921. 1
19088923922. 2
19088923923. 3

19088923924. 4

Question Number : 107 Question Id : 1908896008 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the process of consumption, the consumer stops purchasing the commodity at the point
where

Marginal utility > Price
Marginal utility < Price
Marginal utility = Price
Marginal utility =Total utility

B S e

Options:

19088923925. 1
19088923926. 2
19088923927. 3

19088923928. 4

Question Number : 108 Question Id : 1908896009 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Indifference curves are those which

Are circular in shape

Are concave in shape

Do not intersect each other
Always touches both X and Y axes

SN S T S

Options:

19088923929. 1
19088923930. 2
19088923931. 3

19088923932. 4

Question Number : 109 Question Id : 1908896010 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The concept of Snob effect was proposed by

1. Harvey Leibenstein
2

Slutsky
3. Alfred Marshall
4. None of these

Options:

19088923933. 1
19088923934. 2
19088923935. 3

19088923936. 4

Question Number : 110 Question Id : 1908896011 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement 1s correct?

In perfect competition, MC cuts the MR and equal to AR
In Monopoly. MC cuts the MR and greater than AR

In perfect competition, MC cuts MR and < AR

In Monopoly, AR< MR < MC

B U B
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Options:

19088923937. 1
19088923938. 2
19088923939. 3

19088923940. 4

Question Number : 111 Question Id : 1908896012 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In Monopoly market situation

There 1s competition between firms
Absence of competition
Product 1s heterogeneous

Cross elasticity of demand for the product 1s very high

g =

=

Options:

19088923941. 1
19088923942. 2
19088923943. 3

19088923944. 4

Question Number : 112 Question Id : 1908896013 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Accordingto Ricardiantheory, Rent is

Differential rent
Scarcity rent
Zero for land
Wage

b =

=

Options:
19088923945. 1
19088923946. 2

19088923947/. 3
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19088923948. 4

Question Number : 113 Question Id : 1908896014 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The money paid to a worker as reward for his work 1s known as

Real wages
Nominal wage
Quasi rent
Interest

I =

.'h'l‘“

Options:

19088923949. 1
19088923950. 2
19088923951. 3

19088923952. 4

Question Number : 114 Question Id : 1908896015 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

National income expressed at general price level taking a base year into consideration 1s called

Real National income

Real Per capita income
Personal income

Private income

B S R e I

Options:

19088923953. 1
19088923954. 2
19088923955. 3

19088923956. 4

Question Number : 115 Question Id : 1908896016 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Agro-based industries are mainly established in rural areas because of

Availability of raw material
Availability of labour

Absence of pollution 1n environment
Low tariff on electricity

e Wl D e

Options:

19088923957. 1
19088923958. 2
19088923959. 3
19088923960. 4

Question Number : 116 Question Id : 1908896017 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
At Break Even point 1n a business

FC=VC
TC=TR
MC=MR
MIC=MVP

el e

Options:

19088923961. 1
19088923962. 2
19088923963. 3

19088923964. 4

Question Number : 117 Question Id : 1908896018 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following boxes of subsidies distort the trade?

Green box
Blue box
Amber box
White box

o

:la.u.a

Options:

19088923965. 1
19088923966. 2
19088923967. 3

19088923968. 4

Question Number : 118 Question Id : 1908896019 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A marketing nux consists of

1. Policies, Procedures, Plans and personnel

2. The customer and the “four Ps”

3. All vanable. controllable and uncontrollable
4. Product, Price, Promotion and Place

Options:

19088923969. 1
19088923970. 2
19088923971. 3
19088923972. 4

Question Number : 119 Question Id : 1908896020 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which phase of the product life cycle 1s considered to be the most critical?

Maturity
Decline
Introduction
Ascendancy

S
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Options:

19088923973. 1
19088923974. 2
19088923975. 3

19088923976. 4

Question Number : 120 Question Id : 1908896021 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Good marketing 1s no accident. but a result of careful planning and ... ..

Execution
Selling
Strategies
Tactics

B I B o I

Options:

19088923977. 1
19088923978. 2
19088923979. 3

19088923980. 4
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